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Itis compulsory for © tofill all entries on the OMR Answer Sheet like Registration No., Roll No., Question g

, Date of Examina : :
Exam Centre Code mination and Shift etc. using Black/Blue ball point pen. In case of making no entry of M3

entry of Question Booklet No. on OMR
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At the start of the examination, check your Question Booklet and OMR Answ ions from
' C er Sheet and ensure that all the question

Q.No. 1 to last Q.No. 100 are printed and all the pages are present in the Question Booklet. Only the OMR Answer Shegltda':g

ndiga

the Question Booklet kept in the sealed packet id i i

_ provided to the candidate shall be used. In case of any discrepancy, the ¢a

should replace the Question Booklet and OMR Answer Sheet from the invigilat aclaa ik iil e entertained

after five minutes of start of examination. 2 vigilator. No objection in this regard will bel ! .
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Answer all questions. All questions carry equal marks.
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Only one answer is to be.gwen for each question. Overwriting and marking multiple answers will be considered as wrong
answers and 1:‘4 r:nark will be deducted for each such answer. Leaving a question unanswered will get zero mark.
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Each question has five alternative responses marked serially as (A), (B), (C), (D) and (E). You have to darken only one
circle or bubble indicating the correct answer on the OMR Answer Sheet using BLACK/BLUE BALL POINT PEN.
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Use of Calculator, Mobile Phone/Bluetooth devices or any other electronic gadget in the Examination Hall is strictly prohibited.
If any such prohibited material found with any candidate, strict action will be taken against him/her as per rule.
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If there is any sort of ambiguity/mistake either of printing or factual nature in Hindi and English Versions of the question, the'

English Version will be treated as standard. }
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Before leaving the Examination Hall, candidate must hand over all the three copies of OMR Answer Sheet to the invigilator
without separating them, otherwise candidate will be liable for appropriate penal/legal action. Invigilator will hand over the

candidate’s copy of OMR Answer Sheet to the candidate after separating it.
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After the exam is over, the candidates can take their third copy (candidate copy) of OMR Answer Sheet and used Question

ooklet No.,
king wrong
candidate

Booklet along with them.
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1. ﬂéﬁiﬂ‘qﬂmlﬁw_____m‘%ﬁﬁ}ﬁﬂ l
A) % = F =y R
B) e st domm 3 wer g 1
C) TR % = fysg
D) wmiveh =1 it g % @ freer
E) STed & ¥ i o

Ninth Five Year Plan focused on

A) Growth with economic justice

'B) Growth with education ang empl.ogzment
C) Growth with employment

D) Growth with socia] justice and equallty
E) None of the above -

2. forra €fept & v éﬁwm@aﬁ%

mmﬁwéaﬁ?mﬁzﬁﬁﬁﬁ
SCI8 lwﬁﬂaﬁiﬁaaﬁ:{% ? U
A) 3=H Pr

V]
B) &R | )
o) : 5
D) avwr A
E) STdaa # & =i¢ =i

Vinay is taller than Hansika, Hanmka'ns

j‘?ﬁlaller than Abhay, Aalok is taller than Ashok
and Ashok is taller than Vinay. Who is the
shortest in the group ?

A) Ashok ,
B) Hansika J
C) Aalok I
D) Abhay

E) None of the above

e

3, 2oﬁam 20242}:)%%&3!%34”'?
fespres Ffvmel e et % @0 ¥g
fore sfatisdr wmae 3 amr 500 iR wiew
% =R FHSI T gEran AT 7

A) FAUSR 121 Fiy (IMF)

B) WRMETE e fraw ¥ (AIIB)
C),foa 3%

D) T foera § (ADB)

E) 39 # 3 = 7

On December 20, 2024 the Government of
India signed a $500 million loan agreement

with which international organization -‘ ._,
to support green and sustainable (e
infrastructure projects 2

A) Ihternaiional Monetary Fﬁnd (IMF)

B) Asian Infrastructure Investment Bank -

(AlIB)

C) World Bank

D) Asian Development Bank (ADB)
E) None of the above

4. 437 31 487 3 H ot wremait 6 ven a7

A) 50 B) 51
C). 49 D) 48.
E) Sm i wd adf _ -

The number of whole numbers between
437 and 487 is

A) 50
C) 49
E) None of the above

B) 51
D) 48
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5. GATT Wr ¥
p) S ST 3T 2o o
g) e FAPTIE 3 g g 3
C) SRe a{ﬁﬁz A T g wfy
p) St FC 31 e v g
E) ST A ¥ P

GATT stands for

A) General Agreement on Tariffs and Trade
B) General Agréement on Tax and Trade

C) General Agreement on Trade and Terms
D) General Adreement on Tariffs and Tax

. E) None*oi the above
e (n.ﬁ.qﬁ'ﬁ.ﬁ. 10) : 98 & ¢ arfeemr @
7 67 P, Q, R, S, T3k U grr v st &
e 1 TR S i AR fo e v
FaWdl

2|

i

"

=]
&

=

has 1

=
IS 'W‘ﬂé FTA : Tha
- P ' 5225 10:9
Q %8 3150 9:5
R 5625 728
S ¥ 3825 4:13
T 4875 4:9
U l..i 4950 1117

T2 3 o e Q1 Gl st e S E A W
T ¢ | ‘
Direction (Q. No. 6 to Q. No. 10) : The table
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6. 1 Ul emfen g el o i T P A
SR By 7l <y wom ) ey e A &

A) 40% B) 50%
C) 30% D) 65%
E) vl # & = =i

The number of white shirts produced in
unit U is how much percent less than_theo
number of black shirts produced in unit P

A) 40% B) 50%
C) 30% D) 65%
E) None of the above ‘

. Fora 50 % fore ) 7 i | T A
Te & e w1 far Aferan 8 7
A) S B) Q
" C) P D) R
E) I # & g T
For which unit the difference between
-fﬂ number of black shirts and white shirts i
[El# 5 maximum ?
A) S
C) P
E) None of the above

8. smsﬁoaﬁtry_ﬁmmﬁﬁﬂﬁﬁgﬁm

B) Q
D) R

given below shows production of Shirt Company by 7 TR P 31t Q g Iaiied |%hg Wl <l
6 units P, Q, R,{S; T and U in one hour. Hzfe;r Hrem & T R 7 -
the table and answer the questions given below. A) 101:72 B) 111:72
Production |- 4 ; . : 1:73 D) 72: 111
: Total Shirts | Black : White C) 101:
Unit | - - Iwfa # | IS TRl
P & 5225 10:9° % .
Q 9:5 What is the ratio of number of black shirts
b 3150 - : produced by units Q and U together to the
R ¢ 5625 | . number of white shirts produced by units
S - 3825 | 4:13 P and Q together ?
T i~ 4875 4:9 A) 101:72 B) 111:72
u | 4950 | 17 | C) 101:783 D) 72: 111
Note : These units produce shirts in only two E) None of the above
colors i.e. Black and White. s : .
| §e P.T.0.
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9. s1% Q, R 3N S U IRT ) yiat <6 a8 T
B Bt et < aited | 11, Wﬂamﬂmﬁwﬁmqﬁwmmg,
BT TR 7 A) TR 6T Ryt
A) 1700 B) @l Ryt |
B) 1850 C)ﬁsﬁmmﬁm
C) 1500 D) Tt-e s
D) 1650 E) ST & & g
_ _ A bill proposed by a minister is called as
E) 3 [{t 7 4 ﬁé Tl A) Minister's bi||
What is the average number orf i:;lack shirts B) Government b
C) Private member's bill
roduced in unit Q, R S
¥ and s 7. D) Non-money bl
A) 1700 E) None of the above
B) 1850 S e e G
’ 12, S =i Wy % fipey dhefert & 2 e
C) 1500 B A) 14 B) 24+ G
D) 1650 . C) 12 D) 22
E) None of the above E) S 8 & g
. | How many Tirthankaras are there in the
10, 3B S 3 T FeNE T WO < Jain religious tradition 2
WSﬁTmeﬁamﬁﬁ%mm A) 14 B) 24
Teram afcrsra R 2 ©) 12 D) 22
E) None of the above
A) 600/11% e ‘
B) 700/19% == 13. Frafitea & & frm =i = g %
C) 800/11% o i Soft 4 2024$r§’|vna1ﬂgf@mﬁm?
- A) gt 1%13
D) 800/29% B) ¥
E g K s
) Wit o IS TS C) v fi .
The number of black shirts produced by D) g7 fug
. % units S and T together is what percent of E) Sww # & =€ 7
total number of shirts produced by units S Which of the following person received the
and T together ? Dronacharya Award 2024 in the Regular
A) 600/11% : Category for Hockey ?
. A) Baljeet Singh
0,
B) 700/19% B) Sandeep Sangwan
C) 800/11% C) Harendra Singh
D) 800/29% . D) Dhanraj Pillay
E) None of the above E) None of the above B
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p) F9 ) FETE

c) 31'("‘413:{ D)

Sundarbans are famous for which type of
forests ?

A Mangrove B) Evergreen
C) Alpine D) Temperate
E) None of the above

15. 024 fues T T RTE e ¥ 51
e T I CEIRER G
“A) st Fers TN
B) T FTRRAE e frafemeE
gﬁié feraferenerd
arraaﬂﬂi‘f ﬁqﬁm@ﬂ
E) S # A HI5 T
"’Wh:ch University led the preparation of the
%2024 Global Water Monitor Report ?

A) Indian Instllute of Science
B) The Australian National University

C) Harvard University
D) University of Oxford
E) None of the above:

@asmaaomw;rﬁmmw%?
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17. ﬁ“%f@aﬁaaammﬂmzﬁml

A) feref g) T

C) Ter= D) 3 1
E) e d @ 1§ 7@l

Find the odd one from the following-
A) Lily B) Lotus
C) Rose D) Grapes
E) None of the above

18. Afd i T &

A) TrSTRT B) 3,
C) foer=s p) wer
E) e 1 & F T
The capital of Norway is

A) Podgorica B) Oslo

C) Windhoek D) Manila
E) None of the above

4]
19, aufiwe g o Aifew i = 27 E%Tg
A) < IFEH
. B) firelt & T S

C) ufert &g .

D) g St framd

E) ST F g T

What is the literal meaning of the word

% M 5 B120% Upanishad’ ?
C) 12% | D) 0.12%
! A) Secret rituals

E) v 3 & B e
The percentage form of the decimal 0.12 is B) To sit near Sempone

A) 1.2% B 120% C) Sgcred verses

C) 12% D) 0.12% D) Teachings of God

E) None of the above E) None of the above

5% P.T.O.
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A) 2013 > B) 2015

C) 2011 . . D) 2017.

E) s § ﬁ IS T

India’s Mars Orblter Mission (MOM) was
launched in - * |
A) 2013 | B) 2015
c)|2011 ;;E D) 2017

E) None of'.'"tne above

21. %Fﬁwaﬁa?hamngm -56) % T I
?ﬂﬁwaﬁwmmmwwaeﬁ
A) 9IS, mmaﬁ:a@
B)g‘g’mﬁﬁr anmaﬁtﬁm
C) HieH, éﬁmmaqhanm-
D) Tt <6 T, SIS 1 T w s
e) sede 48wt

.fﬁ. At the time of the First Fwe Year Plan
'@' 3 (1951-56) Indla was faced with three

problems. They were

A) Food, shelter and clothing

B) lnflahon shelter and food

C) Food, unemployment and shelter

D) Influx ot;l_.refugees, severe food shortage

and mol:l'n:ting inflation

E) None of the above

22, Hahesl  @a % e ) 1 B B 7

A) fem B) fim
C) @I D) #e

E) Swiaa & & i
The playing area in boxing is called
A) Field B) Ring

C) Court D) Mat

E) None of the above

za1ﬁgtmﬁemmﬂd%“ﬁqam%aﬁﬁﬁeﬁﬁ”%
& H g wfem fohw werer v w@ih i ot 7

A Fre-deh B) Aisiiea!
C) tug | D) hiefiem #
E) ST § & 1S 7

@ .The famous statue known as the “Dancung

.% 2 Girl” of the Indus Valley Civilization was
discovered at which site ?

- A) Kot-Diji
C) Ropar

E) None of the above

B) Mohenjodaro
D) Kalibangan

24. AME HATE H Y99 W TS THTS Sh HET )

A) Tafdsr waey B)aﬁﬁm
C) et D) st
E) Swis # & =i 7

The amount of light entering the human eye
is controlled by

A) Ciliary muscles B) Cornea

C) Pupll D) Iris

E) None of the aboye
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. 2%@sii 71 LOM 3l HOF sais 120 4T 6

Gﬂfn{‘ ? ! 2 1Al il U "N 30 8, a1 g ‘q‘GﬂTﬁ
p) I B) wam TR Hifra |
c) Mefle - ' D) et A) 33 B) 24
Wﬁaaﬁg“‘@f- Gy 87 D) 18
E) Swdw § & wrs T8l

Which desertis COnSIdered the driest place The LCM and HCF of 2 numbers are 120

e
S EIFE]
Ees on Earth ? &E-’\E‘: ,
- 2]l and 6 respectively. If one of the number IS
A) Atacama B) Sahara 30, find the other.
. A) 33
J C) Gobi D) Kalahari ) BY 24
| . C) 27 D) 18
; E) None of the above :
| i _' E) None of the above

o e R 2025 Frereen # & P 5. s w3 Pifices < ifie T 1 I

for o T A @ 7 R 7
p) 24 0 A) T ¥ i afeE FER ,
B) 8 UM » " | B)?ﬂﬂéﬁﬁﬁ'/ﬁuﬁ,ﬁqﬁﬁaﬁaﬁ%*
o) 11 ¥R - - C) T& % T TN |
D) 25 RE ‘ D) 3@ ¥ T e
\ . ' . ’ ) E ﬁ ﬁ [ .
A | ) sl & 3 8
. ) iy . What does the term Tipitaka or Tripitaka
National Girl Child Day 2025 1 observed
: refer to in Buddhism ?
on which of the following date ? - _ .
s - A) Three sacred viharas of Buddha

A) 241 Ja
) nuary B) Three baskets/collections, contains

B) 8" March _ ‘ Buddhist teachings
C) 11" October C) Three incarnation of Buddha
D) 25t December i'f:i?é i \ D) Three first followers of Buddha
E) None of the aboﬁé | E) None of the above

s 7% PT.0.
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%1 Raars frad shiam 2

A) amier RRmEE

B) W i

C) ¥n femes

D) AR f&v‘iﬁﬁm
EIE Who won the womer's singles title at the
[%52025 Wimbledon Tennis Championships 2

A) Amanda Anisimova

B) Ashleigh Barty -

C) lga Swiatek

D) Karolina Pliskova

E) None of the abc;\'?e:?

30. aw@rmaw% Pin
A) @&h’ﬁmﬁrm
)@Eﬁﬁﬁaﬁaﬁﬁrﬁﬂm

C) uﬁaﬁ%ﬁ@%ﬁmﬁaﬁwm

313[11?[«' i
D)aﬁr:ﬂfﬁamﬁéaﬁ@@x
E)méﬂﬁﬁ%@éqﬁ

What is density of pOpulatlon ?

A) Number of populatlon in one area

B) Number of persons engaged in one

work e

C) A ratio of the nu%ﬁer of persons
per sg. km of land-area

D) Persons were hved in limited area of

31. VST AT o e wa o 8 7
A) e
B) WA e
C) =t 1 U
D) a9 STe1 o1 3Hd:wied
E) Swdwa & & 18 T8

What is the main source of groundwater
recharge ?

A) Snowmelt

B) Ocean currents |

- C) River water

D) Rainwater infiltration

E) None of the above -

mﬁﬁmw%ﬁmaﬁawﬁa@
AT BId & 7

A) tfifes ufie, Rl e, o whie
B)mﬁa@g,mﬁm@g,%@g
C)Fgg\f@@@,%@a@?@@zﬁﬁ%

D) wififs e, Affes e, A whie
E) Swiw o & w18
Which of the following are mentioned

r_vﬂ;i. as common mineral acid that are very
%% corrosive in their concentrated form ?

A) Acetic acid, citric acid; tartaric acid
B) Carbonic acid, phosphoric acid, boric acid

C) Sulphuric acid, hydrochloric acid, nitric acid

land "LS, D) Formic acid, lactic acid, malic acid
:'-:7'.!. & Y% E) None of the above
E) None of the above, | —h%
- = .pV 8 Yo 6~&
I © ‘ 5o o
-l

|
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ﬁ’;{;‘. ¢, 3085 ¥ 300 ¢ 3% 1 ave a5 i
ﬂamﬂ@aaﬁ | TR I% 2011 9 2016 T
@mqﬁaﬂﬂaﬂtmq’ﬁm% (g 7. #) |
Jection (@ No. :3 t:’ Q. No. 37) : Study the
phand answer t # questions given below. The

shows the INCOMe and expenditure of a

h
par graP - -
pany from 2011102016 {in crore Rs).
. ; |
HOA 1 3 3R = =l
income & Expenditure of Company e
00+ e e Q- Qe o
@O
800 - : B
7001~ 0"
6001 I, _§_____ ] Ir?c::na-erlne
) B i B HE . .
pg $o B ~ D Expendilure
300 SR
BE LR
2001 B |
o b -
15
il %

33. 2011 % 2013 T T 3T 2013 % 2015 @
et o F e B @ 7 ;

4, 5.
A) 15-5 /D. B) 25§ Yo ;:
4
0) 159% v~ D) 25a%
E) Swiw d & IS Tdl i

k

e

iE] By what percent total income from 2011 to
;}';.% 2013 s less than total expenditure froﬁ?m 3

Ll

to 2015 2 b
" | g

S e A R L AR TN A AT

..,...-v-—o-‘-'-"""M

34. 3fe 2016 ) qern 1 2017 1 @l = <4

35.

36.

25% g1 3T 317 20% ), < 2017 H FE
S (Rl 7. 8) 7 2 7

A) 475 B) 550
C) 425 D) 450
E) S i & #s 7

If the profit of the company increased by 25%
and income increased by 20% in 2017 than
2016, what is the expenditure (in crore Rs.)
of the company in 2017 ?

A) 475 B) 550

C) 425 D) 450

E) None of the above

Tt 2R 2013 Y 2015 @ B bl
T (0 w9 §) arffa i 78 7

A) 200 B) 100
C) 150 D) 50

E) Sww o & SIS & .

What is the overall profit (in crore Rs.) is
earned by the company from 2013 10 20157
A) 200 B) 100

C) 150 D) 50

E) None of the above

St 2 2016 7 aAfta @, ol g 2015
3 37 o A Rea hawa ik € 2

A) 50% B) 150%
C) 200% D) 100%
E) sdad  § FIE T

The profit earned by the company in 2016 is
what percentage more than profit earned by

A) 152% 2559% _
| ) ? ¥ J i the company in 2015 ?
5 4., Lk p) 50% B) 150%
b Top% D) 2557 1| C) 200% D) 100% 5o
f the above T ves
E) None of ; E) None 0
- e of the above . vﬂ—l x - m%%)o e : °
(TS 590 o g -y
y - 70 D \ d’o.fﬂ ﬁ’.f . lop B :
M3y 450 g0 . P/(;va” 22, g
T : et /,QQS ){.)9‘5 o
J e 3910 W |
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a7, few ol # foryy anl & Sy am ARk emw
(0 T ) o R} 7,
A) 150
B) 116.66 34
C) 126.66 .
D) 100
E) S & & g
What is the average’ profit (in crore Rs.)

earned by the compahg' in odd years among’
the givenyears 72«14

A) 150 ,
B) 116.66
C) 126.66
D) 100

E) None of the aboﬁ‘re .,
ot 61 et s

5E The chemical reaction:between quicklime

~iplt and water to form slaked lime is
h

characterized by =

A) A change in colc{'r'.'.i
B

The formation of-a’precipitates

P
& 3

Waat
C) A decrease in temperature

)

) Terti
D) A rise in temperature

)

" E) None of the above

[0ss]
B
s .

e
“““““

39. T & TR Ry 3 e
¥ frmfor = 311 ﬁﬁ‘{] be) 3 m ym
ST 8 7 T st e

A) T B) g
©) T D) R%x
E) S H & g g
Which Mauryan offigiq

; is credited With
constructing the SUdarshan Lake as
mentioned in the Gjrnay Rock Inscripti
nser
Rudradaman ? 'Plion of
A) Pushyagupta

C) Tushasphg
E). None of the aboye

B) Bhadrabany
D) Chanakya

40. TH I 6 gfefy 118
; 138 % 3 et wirerg

27 T R, Toh Taré e 2
A 31 am

4
- B) 12

4

3
C) 3Eﬁ1ﬂ
D)'S%ﬁTﬁy
E) Swiw # & 1S 7

The perimeter of a rectangle is 13 cm i

; - T

and its width is 2-iicm. Its length is Eﬁ@-}l

'AI) ..31 cm
4

B) 1§ cm
4

C) 39 cm
4

D) 5l cm
2

E) None of the above

P10



s i S
g,

_..-.
‘n

g d?
2 ol it 2 RIS 2o

Ao TR TRfmy
Rﬁmmmﬂwm?ﬂm
ﬁéﬁﬁaaﬁé:‘ﬁ

age mployment Programme in India is

B)

-~

BwW :
Sl also known @S -

b

A gwama Jayanti Gram Swarozgar Yojana

{

'\_:"'té@

he,

B) National Social Assistance Programme
0) gampoorna Grameen Rozgar Yojana
D) Swama Jayanti Shahari Rozgar Yojana
E) None of the above

.nf.u

30 - 31 9, 2025@"%”““@3
Wﬁ e foham T o ?

p) e, A 4
B) iR, THIA
C) sAg, ™
D) S, I G |

E) oy A & HIE T

......

42.

Where was the National Conference on
*Good Governance” held on Jan_uary
30-31,20257

A) Bhopal, Madhya Pradesh
B) Gandhinagar, Gujarat

A
i

C) Jaipur, Rajasthan n
D) Lucknow, Uttar Pradesh ~ | ;

Bk

.E) None of the above

qﬁ(ﬁ QTR 2 Wf‘sﬁl %) Gﬂ(‘ I T

U UASIVOMR T T i e
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s ot e e i

43. vnell ("fl'['rl[ “DI""E& {‘)d f‘m‘[ el i‘ dTPhﬁm
R e 9

A) T3 .

B) sfieren

C) s

D) Jurt

E) swiw # § wrd T

The first South Asian Games held in which

country ?
A) Laos
B) SriLanka
C) Indonesia
D) Nepal

E) None of the above

44 T 3 3t ffde arEETE B o1 7
A) T
B) Rud
C) wie HIseee
D) i
E) s7dad # & SIS Tel

The last British Viceroy in India was &

%
Pk
Ty G|

A) Rajgopalachari
B) Ripon

C) Lord Mountbatten
D) Canning '

E) None of the above
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45. ToFH ITATEHT gRT forem T wmer attafers
ST BT ST - 1954, et o g
ST T 7 7 3 7 |
A) TS B) ST

46. T8 IR 3 s I Ty, e,
| H I ATl S F e AR E Al
A) FHRR B) W= »-
C) STt SET D) =TT
E) 3w & & 3§ 7
47. e ‘e 1 o TE 59 T 6 g SE
R TR W SR I R 7 B

A) TS T B) W §el
C) wereHr it D) Semetenet J&s
E) Swiw A 4 S

48. Rrargsr wew g feriea 1925 arfk
el 3 D R R AR 3
;T | |
A) SERi gt B) 3RS
C) =% Ul D) el
E) ST # ¥ B
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) 1950

£ Wﬁﬁﬁqﬁ

B) 1952
D) 1954 ! *
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50. T g'ﬁéﬁmﬁiﬂﬁmﬂ%

<= 3 i 2 ¥ e T 99 T T

yaﬁ@awmwaﬂm%l

A) 1948 B)ﬂg//

C) 1947 D) 1952

E) 39 3 & P Tl
51, GARHIWERT _____

%ﬁwa@@g@mﬁiﬁgl
p) e B) =

c) ¥ o) i/

E) 3w § & % T

B E@H@ﬁa@ﬂmﬁﬁmﬁ@ ?
Nl B) el
c)aaﬁaa"fé/ D) e
E) 37 # & B T

1 qeriie™ St A
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A) R geu
C) faremufa

E) Swde | W g 7

55, ‘M’ TGN VI R, aaan;ﬁgqgma R T
AL =X By .
QT D) & ;1ﬁ
E) S 3 & 2 i

56. ‘Sl ATFO FN A B T q@% |
A) JgFeiE B) smruf

C) 3™ D) sy,
E) 3w & ¥ 9 7 ;

57. saﬁaaw%‘ﬁﬁﬁxﬁszﬁmzﬁaﬁiizﬁﬁdﬁ%
THRHmIF R :

A) Hag o B) WT?GEIT“

o B 8

B) @@ g

D)qﬁa'i

EE5 . | ,.
58. 3#&Emtlsﬁanggsﬁa%'ﬁ#ﬁ%ﬁaasmaiﬁ
q Fr@“r &g T = HifT | C B

: / B) : ‘
Cn SRR

) e
G = O
59.ﬁy&ﬁm“gﬁnsﬁa%,3H$rem%n¥q£i___%t

v mae
c) sfre D) s
E) 3wad § 9 I3 TE |

s A o —

60. ﬂezmnmﬂwdaanﬁrgaﬁxznmrm
uren 2 76 18 o vaur wEh Fder T
91 @1 2 3R 31 Ty feeht =afd & aften
1 IeeToH L @ R |
A) IR g1/ B) &l TeaefieRo
C) I8 D) TSN
E) I # & i e

writ is issued when the court
finds that a particular office holder is not
doing legal duty and thereby is infringing on
the right of an individual.
A) Quo Warranto
C) Certiorari
E) None of the above

61. TeT H IRTT 8 Tl Gt shl T
frahguaimef o
A) TS FHwom i
B) TR f&g Tom
C) Fom @t sr=r
. D) we&T @t dimy
E) IR 4 o

~ Indian Home Rule Society in London f;@
~ was founded by _ &2
A) Shyamii Krishna Varma
B) Sardar Singh Rana
C) Krishna Swami lyer
D) Madan Lal Dhingra
E) None of the above

62. 3o e feaw e T s R 2

B) Habeas corpus
D) Mandamus

A) 29 @8~ B) 1 fegsx
 C) 26T D) 13 37aat

E) 3ugsa o & 18 T

International Tiger Day is observed on

‘A) July 29 B) December 1

C) March 26 D) October 13

E) None of the above
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/',,,—MMI T e
;3lﬁmigaﬁ?ﬂzfﬁr*ﬁﬁﬁmﬁmaﬂﬁaﬁw 66. TR Ty 35t war e Tt i 2 & 7
gt Y, ] A) IR ey B)W
A) m’lﬁ ) ﬁ‘{ﬂﬁ‘-{ C) e D) e
o) D) e E) 3w & & w1 T
E) T i e T Kakrapar Atomic Power Station is located
Thesplting ©f Igitimals COmPOﬁént colours whiciitale 2
is called ‘ A) Uttar Pradesh B) Haryana
C) Gujarat D) Punjab

B) Diff‘_féjction

A) Reflection
D) Dis_bérsion

C) Hefraction
E) None of the above

o4, e TG T 3 T BT g WA I
el 3175 s s
p) T B) MR
C) St D) MR/
) o § & e T :
Which Indian city has issued India’s first

Centified Green Municipal Bond 2
B) Ghaziabad

A) Ranchi
D) Ga'ndhinagar

C) Prayagraj
E) None of the above

65. 1 0, 2025 Y T HEHR 3 T
Rt & o 0 fopg Q Faet <l SO S ?

At B) T
C) SHI-TeHg D) - fggt
SRR LI

On January 1, 2025 which new district was
: announced by the Guijarat goverﬁment,
“'carved out of Banaskantha distr,ic:t ?
A) Dholavira-Aby B) Va\?—Tharad
C) Deesa-Palanpur D) Patéiﬁ-Sidhpur
e..___.__E) None of the above

[ETg3E1
.

67.

68.

E) None of the above

af12=1, 112= 121, @ 1112 =7

A) 1234321 B) 123321
C) 12321 _/ D) 12343210
E) 377 & 4 HIS Tl
|f12=1,112=121,men1112;? .
A) 1234321 B) 123321
C) 12321 D) 12343210

E) None of the above

o o seh 500 3 35 TR T
050 Sree 1 TR T ST R 1 10 S
3 et i Swfed o i Dl MO w |

A) 125, B) 500

C) 250 D) 1250

o) sm A A MEE
A potential difference of 250 volts is
applied across a resistance of 500 ohms
in an electric iron. Calculate heat energy
produced in joules in 10 seconds.

A) 125 B) 500

C) 250 D) 1250

E) None of the above
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69, -muuﬂ % am ﬂiﬁ ST ST oy 7

70.

S

A) TR WS

B) SATEEE 8&

C) i, T

D) gy 55 A

E) Swia # & g d
Who was known as ‘Rajaji’ ?
A) Rajendra Prasad

B) Jawaha'rlé_{l Nehru

C) C. Rajagopalachari

D) Subhasﬁ_’bhandra Bose

E) None of the above

T T e o e i , wf
mwﬁﬁ%aﬁ%aﬁﬁw&wwmﬁ
423@%3&1%@2{1'{{@%7[({%1
A) %W/

B) fwrss Rrgia

Wiere not the part of original
Constitution of Indla instead added in 1976 by
42" Amendment Act on the recommendation
of Sardar, SWaran Singh Committee.

A) Fundamenta! Duties

B) D|rectlve Pnncuples

C) Fundamental Rights

D) Freedom of Speech and Expression

E) None of the above

72, WA 6 o e T - g 7
A TR
- B) TieEd

i A A

71, Wiferam Fratas i % et (OPEC) i

A) T

B) q&eH

C) fame

D) 37 wreit

E) It & & =7 7l
The Organization of Petroleum Exporting
Countries (OPEC) is headquartered in
A) Vienna

B) Brussels

C) Riyadh

D) Abu Dhabi

E) None of the above

il
o9 [a]

C) agm
D) T

E) 3uds § & w18 e

- Which is the longest river in India ?

'A) Brahmaputra

B) Godavari
C) Yamuna

D) Ganga

E) None of the above

[ES—

T

P164




PR
| A _
= ey 4-3,‘3!7“ = @Y 5 %7 Y f‘/):__
A T L A -
ok = "9 |1 8
e foa SFERId 1 2T Tuesday : The total nurnbe:;f——r;:;;l“e“—;lour
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s S g R S ﬁmﬂw%w

ﬁawﬁ’@éﬂéﬁl ;-‘:1

FEN ﬁﬁﬂéﬂﬂ_ﬁﬁmaﬁgwﬁ?ﬁ
%1 ST 314 7 4%3ﬂiﬁfﬁﬁﬁﬁﬁm%ﬂwﬂaﬁ
el e 1 I 812 2%311?%5"* )

m%gmﬁﬁwwmﬁﬂﬁo% ! .

AR ﬁﬁa%ﬁm%wﬁﬁgﬁmﬁﬁﬁ
3 1 % Tl i o wen d 375%3#%1%5%3411

ﬁﬁaﬁﬁﬁm%g&rﬁﬁwmww
982 | fififa 4 1 & el A1 et g i
R 3 e A o won A 4o A R

AR : fyfifa S T7 % TEAnl <1 Fer gen ffi /'
1 % TeaRT S Fe T H 5/11mqm%amﬁﬁﬁ
waﬁtﬁm%gﬁrﬁaﬁﬁmm ljoaflt

240 2 | 7
Elr_i'#l
e
Direction (Q. No. 73 to Q. No. 77) : Read the
. following mformatlon carefully and answer the
questions. s
The given below paragraphs shows thé' total
number of purple, green and grey colour balloons
manutfactured on three different days i.e. Monday,
Tuesday and Wednesday. A2
Monday : The ratio of the total number of purple
to green colour balloons manufactured is 3 : 4
and the ratio of the total number of purple to grey
colour balloons manufactured is 3 : 2 and the sum
of the total number of purple, green and grey colour
balloons manufactured is 450.

balloons manufactured s 37.5% more than the
total number of grey colour balioons manufaclured‘
and the ratio of the total number of green to grey
colour balloons manufactured is 9 : 8. The total
number of purple colour balloons manufactured
is 40 more than the total number of green colour
balloons manufactured.

Wednesday : The total number of purple colour
balloons manufactured is 5/1 1t of the total number
of green colour balloons manufactured and the
total number of purple and grey colour balloons
manufactured is 150 and 240 respectively.

73. WHER, HeR 3R guar i b @y fid
%1 % TR A g S G T
HIRAT |
A) 192
B) 105
C) 181
D) 167
E) 3ude # & &g TEl

E#[E Find the approximate average number
Eles
;%?"a.‘ Zof grey colour balloons manufactured

on Monday, Tuesday and Wednesday

&,
5"

&

| 8o

&5z

together.
Ay 192
B) 105
C) 181
D) 167
E) None of the above
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74, 3R e ) R T T/ 6 wren quam

_on Wednesday and the rat1om

aﬁmﬁzs%mé athaﬁﬁ&sagm
WU 4:3:2 %, aﬁwaﬁﬁfﬁaaﬂ&m
m%gmﬁﬁa@nmaﬁﬁql

A) 260 B) 240 -

If the total number of balloons ﬁ{é‘%ufactured

on Thursday is 25% less than that of

of the total

.g. number of purple, green and grey colour
.;.,_35 balloons manufactured on Thursday is

75.

: C) 280

of purp!e colour baHoons manufactured on
Thursday. """-'

A) 260 B) 240

D) 220
E) None of the above T

gamaﬁﬁrﬁaﬁr’w%ﬂﬁﬁaégﬁw
w@waﬁﬁﬁaéﬁm%wﬁ@rw

HEAT ¥ 379G T it |
B) 7-’:'5':;«?5

A) 8:13
C) 6:1
E) S & 9 SIS T8

" Find the ratio of the total number of green

colour balloons manufactured on Wednesday
to the total number of purple colour balloons
manufactured on Monday. :
A) 8:13 B) 7: 9
C) 6:1 D) 117 5
E) None of the above ;

76.

E i if

e i

TR, 1 fifif ey ol Bl EE S HTEn
ﬂﬁﬁﬁiﬁ%ummwiﬁmzﬁaﬁa
AT T hifa |

A) 460 -~ B) 510

C) 290 | D) 300

E) 3wdw & & g i

Find the difference between the total number
of balloons manufactured on Tuesday and
the total number of grey colour balloons
manufactured on Monday.

A) 460 B) 510

C) 290 D) 300

E) None of the above

gﬂaﬂaﬁﬁﬁa%ﬁm%g@ﬁiﬁm
TR i e R o T T F T R
we H fh ke 2 7

A) 50% B) 70%

C) 80% D) 40%

E) Swisd # 4 g

- The total number of grey colour balloons

'78.

+ A) 50%

manufactured on Wednesday is what
percentage of the total number of green
and grey colour balloons manufactured on-
Monday ?

B) 70%

C) 80% D) 40%

E) None of the above
9RA <5 BfawH A YT
A) Fiéws fagm

B) ATiRar .

C) witfers 3TiRepR |
D) wRiTer 2

E) s & @ i 7

Indian Constitution starts with -
A) Directive Principles

B) Citizenship

C) Fundamental Rights

D) Preamble ;

E) None of the above

_____@r‘&ﬁ?ﬁ%_l
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79, mmﬁwﬁﬁﬂﬂ@ﬁﬁﬁlﬁ%?
p) wERs v
B) el
C) T
D) dHeTIg
E) Iuad § & H1E T

Aguada Fort is located in which State 7

A) Maharashtra

B) Kerala

C) Goa ‘ ¥
D) Tamil Nadu [

E) None of the above

80. T el 1 3R FIAR Fd gL, Th Al
Y g1 “IghT °f 70 1 I geheldl 9 2” |
Hfen 39 et @ forg we Hefad 2 ?
A) 9@ r"j;

B) 5& L3
c) =f o ]

D) =it | =
E) i 3. .
Pointing to a man, a lady said “His mother

[E]2E
“%@ is the only daughter of my mother”. How is

- the lady related to the man ? 4_
A) Daughter
B) Sister : t_::'
C) Mother ° 3
D) Aunt

E) None of the above

————
. -
B p———_
P ———

81. ;E;r;rq?fmfz*m I o) v frg o

A) 1921

B) 1934

C) 1922.

D) 1924 «~

E) I 3 7§

Hindusthan Republican Association L@‘}ﬂ@
was founded in the year Ej?%
A) 1921

B) 1934

C) 1922

D) 1924

E) None of the above

82. 16 SHal, 2025 Fi USITg H3Hc & % Y Y
PR 3 e e st % w9 i
foret weum ew e 7

< A) T g
 B) . . T T
C) 3gel FAm I
D) &sfia =51 ./
E) 39de & § I3 Tal
Who assumed charge as the Managing :
Director and Chief Executive Officer of
Punjab National Bank on January 16, 2025 ?
A) Ashok Chandra |
B) S.S. Mallikarjuna Rao
C) Atul Kumar Goel
D) Sanjiv Chadha
E) None of the above

e,
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pirection (Q. No. 83 and Q. No. 84) : Read the

following passage and answer the questions by
choosing the right option. :

. ESE
The Journey of a River ~  [@i
Rivers begin their journey high in the

~mountains, where mefling snow or rainwater
~gathers to form small streams. These streams

—flow downhill, joining with othvers to become—
larger rivers. As the river travels, it shapes the

land around it, carving valleys and créating

habitats for many plants and animals.__

‘Rlong the way, rivers provide water. for

people, animals and crops. Towns and cities
often develop near rivers because they offer

a reliable water source and an easy way to
transport goods. However, rivers can also flood
especially after heavy rains, which ¢an damage,
homes and farms.

Many rivers eventually flow into oceans or seas,
completing their long journey. To protect rivers,
people must avoid polluting them with waste
and chemicals. Keeping rivers clean helps

ensure they continue to support lifeand benefit
future generations. e

83. How can people help protect rivers ?
A) Avoid using river watsr :
B) Stop planting trees
C) Build more dams ~/
D) Avoid polluting them :
E) None of the above

84. What happens when many small streams
come together ? o

A) They become a waterfall

B) They form a larger river T

C) They dry up |

D) They flow into the sea /

E) None of the above ;

85. Choose the opposite word (antgij_ym) to the

86. Choose the right answer from the five options
given below to frame meaningful sentence.
lhe/steps/old/man/fell_/the/down
A) The old man fell down the steps.
~"B) The old man fell the steps down.
C) The old steps fell the man down.
D) The old steps down fell the man.
E) None of the above

87. Fill in the blank with the correct option.

My brother very hard
at the moment, because some of his
colleagues are off sick.
A) work
C) works

E) none of the above .

88. 7:10°ast WSl 1 Gl % e I BT = B 7

B) is working
D) working

A) 155° B) 170°
C) 185° D) 165°
- E) Swed § A 18 T8
What will be the angle between the
hands of clock at 7:10 ?
A) 155° B) 170°
- C) 185° D) 165°
'E) None of the above |
89, ‘U=’ i ufearyT Wi |iqem 1 E
Fiata & S R |
A) =G 12 B) 31I=aT 14
C) T=a% 1 3/ D) =3¢ 15
E) 3w # ¥ i T

The definition of ‘State’ is provided under

given word. — of the Indian Constitution.
Remote B) N ééiir A) Article 12 B) Article 14
A) EOIZ;?:y D) Distant C) Article 13 D) Ariicle 15
ar
% None of the above E) None of the above
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F‘_,..--*"“""M'ﬂ“ f ' . i
ga_%aqmﬁ:amﬁﬂaww et et T (9. 6. 92 1. €. 96) : %y foenr 7 e AT
: ' ¥ uTe 99l 2021, 2022, 2023, 2024 it 2025 | ﬁfzf’
87 ! _ : atles, V28, 3 2025 7 B
s R Auers 3 e SAC afeen s 7 wign zaigl 2L
A | Direction (Q. No. 92 to Q. No. 96 : The bar graph
g) ufee AT S | given below shows the number of male and
[ female participants in City Marathon in five years
c) Ffsam T 2021, 2022, 2023, 2024 and 2025. -
D) & ; 1o A T
- ’ - articipants in Marathon
o am AR S
@@ putul Nach is a puppet form of which Indian 2000|- 8- &
PR : ot : 5
-E] %State ? O 1500|- I
A) Assam |25 "? = P | B | N%’:;
1000 |-E54 | B o I L=
B) West Bengal %ﬂ?:? 5 -0 sk Al
/—"’XJP '7’ ' | B 7 oFemale
C) Odisha Elza SO0 pat |t | BRI TR
(- ] ('{}' ; ZI
D) Kerala ,54 = P I i B ';;., v B 4l
12y : 2002 2023 = 2024 2025
E) None of the above % iy B
o1, w G T <l wed ree Rrvard o | _
' i 92. AUz Wi O AT Sivea ew fE AR
ksl | e B o o areh 3 fven sfofied
B) &= W N j@j;w ?"#;- 1252 |
o) el wfd o L - "A) 660 | ;{;ﬁ 17
; c
D) i 3k T TRl F i Alw B B) 550 13-5° Ig:,, o L
e G380 33> " V(8 °
_ | D30 - a%S=S
B sgmadse })Wﬁﬁﬁqﬁﬁ ©
A Federal State is best characterized by i What is the difference between average 3
A) One-party rule i 3 i’-" male participants in marathon and average
B) Rule by milita ) B8 e male participants in marathon ?
5 = = A) 660 | q¢ oo
) Total power in the capital - B) 550 )
D - ) 6t <
) Power shared between central and local C) 450 /O/
governments D) 350 _ ‘M‘g
E) None of the above E) None of the above
s,
i o219 | e
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g3, 2026 F Auert ¥ WrT TR A P WMt Hy
T TG BN, A 2024 37T 2025 F sy

R AT aftea @ Bl g § 2026 1 gw
s 1 we & 25% 6 9 f |

A) 3700 ;‘.";'??

B) 3775 <29,

C) 3800

D) 3875

E) STR & ¥ %15 78

Find the total number of participants in

L@ﬁ% marathon in 2026, if the tétéil participants
[Bl% increased by 25% in 2026‘-0ver the average

of participants in 2024 and 2025,

A) 3700

B) 3775 "f;f‘: "
C) 3800 298" ?’g
D) 3875 —cc

M |
E) None of the above /
= (3

gg.maﬁmﬁnﬁﬁaﬁﬁwm?

A) 2022 -
B) 2021 253 ’
N L5\
" C) 2025 w0 Y7
D) 2023 8%
. R
E) Syded # & g T8 {

In which year maximum éépple participated
in marathon ? N '
A) 2022
B). 2021
C) 2025
D) 2023 =
E) None of the above ~

95.

" " C) 4.5%

96.

2021 I e 3 sy @ el e I
¥ Wi 3R 2023 i oA F HE TH AT

o SRR 3 e 3 e AR ?
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What is the difference between the
percentage of female participants in
marathon in 2021 and percentage of male
participants in marathon in 2023 ? (Find
approx. value)
A) 7.6%

B) 6.7%
D) 5.4%

B) 6.7%
. D) 5.4%
E) None of the above
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A) 28 : 41

B) 41:28

C) 48: 51

D) 51:48
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Find the ratio of average number of ‘:g:%
males participated in marathon in 2022,
2023, 2024 to average number of female
participated in 2021, 2022 and 2023,

A) 28 : 41

B) 41:28

C) 48:51

D) 51:48

E) None of the above
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Which country is the host of 6" BIIVISTEC
.(Bay of Bengal Initiative for Multi-Sectoral
E;]%é Technical and Economic Co-operation)

summit ?

A) India

B) Thailand .
C) Sri Lanka %
D) Myanmar

E) None of the above
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‘The first President of the Independent India
was

A) Dr. Sarvapalli Radhakrishnan
B) Pandit Jawaharlal Nehru
C) Dr. Rajendra Prasad f_l
D) Motilal Nehru )

E) None of the above

among members of Parliament. o
A) Discipline Committee

B) Committee on Privileges
C) Committee on Petitions -
D) Ethics Committee

E) None of the above
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@q The age of Ram is twice the age of Shyam
I’gﬁ and half the age of Sohan, Shyam is elder
i‘{?ﬁthan Mohan. Who is the eldest ?
A) Ram ' h
B) Mohan
C) Sohan
D) Shyam

E) None of the above
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